hEi"I‘ich Nco H BA- 1 8 Bo o ST E n .. . double-acting cylinder

Part Name Part No. Price
Cylinder, Air HBA18-1 $119.06
End Cap Casting, Air HBA18-2 254.10
End Cap Casting, Oil HBA18-3 297.66
Piston Cup, Air 6601-5 66.79
Piston, Oil (must be ordered w/ index #7) DA18-5 59.53
Washer, Piston Backup (nhot shown) 6601-5A 11.62
Cylinder, Oil (must be ordered w/ index #5) HBA18-7 255.55
Lock Nut - 1 5/8°12 DA18-8 14.23
Tie Rod (4 required) HBA18-9 18.88
Jam Nut — 3/8-24 305-18 0.36
Full Nut — 3/8-24 (4X , top) H-15 0.73
Jam Nut — 3/4-16 6601-11 2.90
Cylinder Gasket (2 required) 6601-12 8.71
Stat-O-Seal 600-3/4 7.26
Lock Ring — 5107-175 DA18-16 4.72
Washer, Clamp DA18-19 1.60
Socket Head Cap Screw 305-17A 0.87
Piston Cup Seal DA18-21 29.04
O-Ring — 7/8 x 1-1/8 x 1/8 DA18-25 2.90
Washer, Backup (2X, not shown) DA18-25A 10.16
Adapter Bushing DA18-28 30.49
O-Ring — 15/16 x 1 3/16 x 1/8 DA18-29 2.90
1/4” Close Nipple 2200-36 3.63
Quick Exhaust Valve 37 --
Adapter 33-16 3.19
Street Elbow — 1/4” 2200-33 4.72
Lock Washer (8X) DA18-34 6.53
Qil Cup HBA18-35 87.12
Coupling — 1/8 HBA18-36 5.81
Nipple —1/8x 2 % HBA18-37 10.74
Angle Iron HBA18-38 30.49
O-Ring—11/2x13/4x1/8 HBA18-39 4.50
Washer, Seal Backup (not shown) HBA18-5A 15.97




